Organic Chemistry II (Final Exam)

Name: Zb\
Signature;

Recitation Instructor:

Instructions
1. Keep the exam closed until you are instructed to begin.

2. The exam consists of 6 questions, The first thing you should do is make sure
that no pages are missing, Ifa page is missing, notify a proctor immediately

3. You will have 2 hours.
4. Make sure to show aJ] of your work, and this should fit into the Space

provided. If you need to use the back of the baper, you must make note of it
in the space provided for credit.

Good Luck!
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2. Conformational Perception. (20 points total)

2a. Assign each of the 4 syn periplanar dienes as either enantiomers, diastereomers
oridentical to the linear diene. (8 points)
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2b. Which one of the following chair confor
with the fisher projection shown (5 points)

CHO
H——0H
b0l = 1
H——OoH =
H——OH
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reactions

3a. (5 points)

3b. (10 points)
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3c. (10 points)

4. Those 5 points from my discussion on the latter chapters I promised. In our
overview of lipids, polymers, and sugars, | mentioned how phospholipids can be
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6. Concept Questions, (10 points)

protected amino acjds. using what you have learned thijs
semester, explain why the starting material more readily racemizes and the product
does not? (5 points)
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6b. Cyclobutadiene undergoes rapid dimerization to form SELECTIVELY the endo
product, and not the exo product, as is often observed in Diels-Alder reactions. In
class we went beyond simply ‘endo rule’ and explained the hypothesized molecular
basis for endo selectivity based upon the transition state from one reaction to the
other (shown on right). W What are the interactions present
in the transition state to endo that are absent in the interactions to exo that is
believes to provide this lectivity. Make sure to illustrate these interactions to help
explain your answer. (;%points)
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